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SHH niETE Merof g ol Heold SAIQH
A dt 53 2,407 1,620
M2 Zhof 9l 7 26 12
XUdEH NEE 1 31 17
En | 61 2,464 1,649
Ut 77 3,084 2,201
o2l 14 37 24
NEE= 2 45 21
a¢ Fr158Hd 12 477 340
NUL2™HHE | oAM= 4 64 37
SN = 1 43 22
BN = 1 15 9
27 111 3,765 2,654
gt 27 2,207 1,476
A ZHoff ! 4 33 23
X|Hrox A M5 1 31 15
HHl/eEHY 3 165 105
En| 35 2,436 1,619
gt 29 1,032 722
2o el 5 15 7
=3 NAE 1 20 9
XUEH SHHY 4 195 108
s5HY 3 158 96
A 42 1,420 942
gt 22 774 526
o el 4 8 3
INEE= 1 12 5
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XLH™H =5
2= QK| = 2 18 8
NN = 1 6 4
SN M= 1 14 11
En| 35 926 609
gt 29 1,466 979
A= fgﬂg 4 27 18
NgeHY  Nos 1 = 13
2S52M= 2 35 22
En | 36 1,560 1,032
X Ut 15 504 340
x| 4E O X4 K] Joi 2 3 3
eTeoe A7 17 507 343
H} O _
AEee® N 18 382 224
B 2t 7 171 117
XUdEH En| 7 171 117
A 362 13,631 9,189




